Stainless Steel Heavy Duty Hinges with Bores for Countersunk Screws and Centering Attachments

HNHGS-L xsnevy - 25v028 - snEm - R

X?VIJX
AILT BYL> Cy147
A A A
Ar Dy A3 As A2 Ty A2 A A2 Dyyv
‘ |
! \
7z | | ~
. L WJJ = ! 4 i i
i @ o i & o 6+9 i & @
Cne on © @ M ©
| | |
T T :
G (=97 G (S G ey
el o) & & N £} g AT | N AN )
! T T 1T T ‘
PRRISIE PRRINE ARIn R
C (@] C (@] C (@]

o ME- Lk

N
(<%
v

NAEFUTEM/NQL
(RUABEY—ER)

HNHGS-L

SUS31648%
TSAMLE
SUS440B1E2
SUS301484

SUS316L

N NBK BENSTFvoe

Orots
HNHGS-L-BK

SUS31648
BERK(OPHLR)
SUS440B#824
SUS3014824

suUs316L

0575-23-1162

o KIFICHMERSUSI6HLDHEEFRAL. EVICIFE
AIBENT=SUSA40BIRE DM BERALIEA —ILAFT VL
ABOEVY, AT DBEVBEZRIELTVETD,

® Dy p BRI K> TR DERER/IRICHIZE T,

® BN DIFRIFOIUEERTY
SHETCTOEYID#BYERE, U DIFRQUTIRZEF
ENBVEBAKABORENSRUERETDIENTEE
ER

e HS—NNUI—vavid2E, REDKRRELSICELY. BIRT
EFT,

KESZEBRL——YIUIN—
KRES[BK—PHUE

® Y3V TR DIFTAD ATUTEII/IMAL (SUS316LE)

ERBLET RUMBY—ER (BIEE) £TFIALEE L,

info@nbk1560.com https://www.nbk1560.com

o BE
1.
ro [eldle] ro
« = 2
n ( =
© | A FLro0
- TR (N) *
o LRO LR9O LA
HNHGS-50-50-L 10000 5000 5000
HNHGS-60-60-L 8000 6000 6000
HNHGS-63-50-L 10000 7000 5000
HNHGS-76-50-L 13000 7000 7000
HNHGS-80-80-L 10000 8000 8000
HNHGS-90-60-L 8000 8000 6000
HNHGS-120-60-L 21000 10000 13000
HNHGS-120-80-L 22000 13000 13000
HNHGS-160-80-L 28000 13000 15000

*1! BEECHRICHENBVEET. DITHBEEIREVBDIFETT .

R

HNHGS-50-50-L
HNHGS-60-60-L
HNHGS-80-80-L
HNHGS-50-50-L-BK
HNHGS-60-60-L-BK
HNHGS-80-80-L-BK
HNHGS-63-50-L
HNHGS-90-60-L
HNHGS-120-80-L
HNHGS-63-50-L-BK
HNHGS-90-60-L-BK
HNHGS-120-80-L-BK
HNHGS-76-50-L
HNHGS-120-60-L
HNHGS-160-80-L
HNHGS-76-50-L-BK
HNHGS-120-60-L-BK
HNHGS-160-80-L-BK

® BSiEEm

547

AILS
ATALF
AIALS
AL
ATALS
ATALF
B4
B
B~
B4
BIA4~7
B~
Co147F
Co4F
Co14~F
Co14~F
Co4F
Co14F

A

50
60
80
50
60
80
63
90
120
63
90
120
76
120
160
76
120
160

FAOI LNV HNRB| H'HHFET .

N NBK @z r7yoau

B

50
60
80
50
60
80
50
60
80
50
60
80
50
60
80
50
60
80

Al A2

3% [~ |- |-
50 - |- |-
0 - |- |-

50 - |- |-
- |13 |15/15
— 122518225
- |30 2530
- |13 1515
— 122.5/18/225

30 |13
45 1225/— |—
60 30 |- |-
30 13 |- |-
45 122.5/— |—
60 30 — -

0575-23-1162

B1

30
36
50
30
36
50
30
36

30
36
50
30
36
50
30
36
50

21
255
36
21
255
36
21
255
36
21
255
36
34
56
75
34
56
75

-

Bfi1 i mm
C d di d2 H Hi hit ha h3G HE RUREY-EX
(8) BLYIX RUOFH
21 6.3/ 9510 (12513 | 6| 65/2 6 115/M6x16 4
255/ 8.3/125/13 (16 (17 | 8 85|3 | 8220 M8%x25 |4
36 [10.3/14.5/15 |20 |21 (10 |10.5/4 |10 485 M10%x25 |4
21 6.3/ 9510 12513 | 6 652 6 115 M6x16 4
25.5| 8.3/125/13 |16 |17 | 8 85|3 | 8 315/M8%x25 |4
36 [10.3/14.5/15 20 |21 10 10.5/4 |10 485 M10%x25 4
34 6.3/ 9510 (12513 | 6| 652 6 141 M6x16 |5
56 8.3/125/13 16 (17 | 8| 853 | 8319 M8x25 |5
75 110.3/14.5/15 |20 |21 (10 /10.5/4 |10 /700 M10%x25 |5
34 6.3/ 9510 12513 | 6 652 6 140 M6Xx16 5
56 8.3/125/13 |16 (17 | 8| 853 | 8320 M8x25 |5
75 110.3/145/15 (20 |21 (10 10.5/4 |10 /700 M10%x25 |5
34 | 63| 95/10 12513 | 6| 6.5/2 | 6165 M6%X16 |6
56 8.3/125/13 16 (17 | 8| 853 | 8415 M8%x25 |6
75 110.3/14.5/15 |20 |21 (10 |10.5/4 |10 905 M10%X25 |6
34 6.3/ 9510 12513 | 6 652 6 165 M6X16 6
56 8.3/125/13 |16 (17 | 8| 853 | 8420 M8%x25 |6
75 110.3/145/15 (20 |21 (10 10.5/4 |10 /910 M10X25 |6

o REIET xMlitE - MEAIINBKIT T YA M ETELI TV,

HNHGS-50-50-L-BK
\

HNHGS-50-50-L-BK -P
| fauim

B2
AUNEY—E2 (BIRE) 2 A0S, BRREORRIC [P Eem
LTLREL,

info@nbk1560.com https://www.nbk1560.com



